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Integrated Math 3 Name

What can you remember before Chapter 4?

Section 4.1 Review of Quadratic Functions and Graphs (3 Days)

- I can determine the vertex of a parabola and generate its graph given a quadratic function in
vertex form, standard form, or intercept form.

For #s 1-3: Identify the form it’s in, identify the vertex and graph the function using any method you
recall. (No Calculator!) (, ( 0)
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1. f(x) = 2(x = 3)(x + 1)@’OJ
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2. f(x) =x*—3x—4
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3. f(x)= —(x+5)°+6

Form: \/.(”"/X Vertex: (Aé.) &J
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= | can explain how the parent graph f(x) = X* is translated (vertex form).

For #’s 4-5: Describe the horizontal and/or vertical shifts performed on the parent graph f(x) = x*. [0) 0}

Hint: Find the vertex of both functions and compare. (, 2.0 )

4. f(x) =3(x—4)*+2 (LIJQ) 5.f(x) = —3(x +2)° ]

Horizontal Shift: Ll \/’\ 1+S Ql:‘) Lf Horizontal Shift: 1 Ua.'ks L€7[f7‘
Vertical Shift: l)\ \//\,‘rg UID Vertical Shift: ’\/v,\e

= | can explain how the parent graph f(x)= X is reflected (sign of a; use terms “concave up” and
“concave down”).

For #'s 6-8: State whether the quadratic function will be concave up (opening up) or concave down
(opening down).
6. f(x) =fx— 1) + 17 7.f(x)5(3 + 19 8. f(x)Z3(x — 1)(x + 1)
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= | can explain how the parent graph f(x)= X is dilated (based on the value of a).

For #s 9-11: State the dilation factor and how the ‘a’ value is affecting the graph.

9.f(x) =-3(x + 6)*-13 10. f(x) £k - 16 11. f(x):@(Zx +7)(x—4)

35 fenerch | 5 No Change <5 Shank




- | understand that the zeros of a function correspond to the x-intercept(s) of its graph.
12. Given f(x) has the zeros of 2 and -7, what ordered pairs does the function cross the x-axis?
(21 0 ) ( B 7) 0 )

13. What are the x-intercepts of the following function: g(x) = -7(x + 1)(x — 10)?

(-1,0) x)

- I can identify the maximum or minimum of a quadratic function.

For #'s 14-15: State whether the function has a maximum or minimum AND what ordered pair it
occurs at. (Hint: The maximum or minimum ALWAYS occurs at the Vertex!!l)

y
14. f(x) -2 —1)2+6 m 15. b_/})x-’+4x+5

Maximum orMinimum

Location: (‘2/ B [)

r Minimum }

Location: ((,(”,) i P 7 T T T R

Section 4.5 Deriving Quadratic Functions (2 Days)

- | understand it takes three points to determine a unique parabola.

- | can write a quadratic function in vertex form given the vertex and one additional point on the
graph.

=1 can solve a 3 x 3 system to determine the equation of a quadratic function given three points on
the graph.

Most of Section 4.5 will be BRAND NEW so there will be no prerequisite problems provided other than
the following two problems:

16. Solve the following system using Elimination: 17. Solve the following system using Elimination:




Section 4.6 Operations within the Complex Number System (2 Days)

= I can explain the difference between real and imaginary numbers.

18. Compare and contrast real and imaginary numbers using complete sentences. You should include at
least one similarity and one difference.
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- Il understand that complex numbers contain all real and all imaginary numbers.

- | understand the relationship between the different sets of numbers and | can sort numbers into
these sets.

19. Accurately complete the graphic organizer to represent how all sets of numbers are related.

by F

Answer Choices:

A) Natural
3) B 2) b !
B) Real
» (7 sy é C) Irrational
D) Imaginary
6) L E) Integers
F) Complex
»_H |
G) Rational
8) A H) Whole
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20. Identify all number sets to which the number —4 belongs :

21. Identify all number sets to which the number 4 + 3i belongs : b)

(7)
F
C, B,
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22. Identify all number sets to which the number nt belongs :




-2 I can add, subtract, multiply and divide imaginary numbers.

For numbers 23-30: Perform each operation and simplify. Make sure you realize which operation

you're being asked to perform!

23. (3 + 2i) + (-7 — 6i)

TR

25. (-2 + 4i) - (6 + 6i)
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27.(2i)(4 + 3i)
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24. (12 —i) + (16 + 2i)

A

26. (7 —2i) = (7 + 2i)

7-20-7-2
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28. (3 + 6i)(3 - 6i)
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Section 4.7 Quadratics and Complex Numbers (2 Days)

(49)

- I can relate the number of real zeros of a quadratic function to its x-intercepts.

30. Complete the following diagram.

Using the Discriminant of ax? +~ bx +~ c =0

Walue of
discriminant

b? — Aaac> 0 2 __Agc =0

b? — 4ac< 0O

Mumber and type
af solutions

Craph of
¥y =ax> + bx + c

2 Red] 2 Q{Pf«fdéeeli

:2, j:“aj'l”“’,y

=

X



= I can use the discriminant to determine the number and type of zeros a quadratic function has.

- | can make inferences about the number and type of zeros of a quadratic function in terms of its

graph and its equation.

Complete the following diagram using what you remember from last year. Then, complete #'s 31-33.

USING THE DISCRIMINANT OF ax* + bx + ¢ =0

‘When ¢ —4ac = 0, the equation has 2 D’%/ Ze ™ graph has Q x-intercepts.

When 52 — 4ac = 0, the equation has )» Qe ’pﬂiﬂﬂ) QW/ Zé.’/q{le graph has ( x-intercept.
N a

When 5?2 —4ac < 0, the equation has :2 ._[ MG{U@' il 'V Z(/(J The graph has O x-intercepts.

Find the discriminant of the quadratic equation and give the number and type of solutions of the

equation.

31)x*+6x+5=0 32)x*+6x+9=0 33)x* +6x+13=0
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= I can relate the zeros of a quadratic function to its factors.

For #'s 34-36: Identify whether the zeros are real or imaginary. Then, write them as factors to create a

quadratic in factored form.

34) -6, 2 35) 3i, -3i 36)1-+5,1+4/5

@Dr Imaginary Real or@aginari Real or Imaginary
Factored Form: ()G'G)[X“) ) Factored Form: ( K’;c‘)‘x*gz,}actored Form:(x" ((" \/Zj/)lt/x "(/‘{“ J?))
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